This figure shows dimensions, attachment mounting procedure, and the
mounting panel cut dimensions of the inverter unit mounted with an
attachment for heat sink profrusion for the A1000 series (in-panel Note 1)

mounted) heat sink. In cases of use in a relatively clean

environment both inside and outside the inyerter
unit mounting panel, 1t Is possible to remove the

[Subject Models] | heat generating parts fto the outside by mounting
CIMR-AO2A0004~008" parts attachments 1, 2 and 3 by the "Attachment
CIMR-AO4A0002~0044 | Mounting Method" of Page 10/16‘

lnverter Unit Dimensions During Adapter Mounting | Note 2) In cases here the environment outside the

inyerfter unit mounting panel (die-cast case side)

Mounting Hole for 4-q s not very good, attach a gasket or apply a

T rachment _ sealant to the mounting panel at the size shown in
/// | | T Page 14/16 in order to increase the hermeticity of
1T .
" - _ the afttachment,
Y ° | 1 \ : : :
% | _ Inverter Model W Wi H H1 | DI D2 | D3 a
4 ‘ N - iinls | CIMR-AD2A0004 : |
iy e 0006 | |
U L é‘ 0008 | 158 | 122 | 294 | 280 | 109 | 36.4| 50 | M5
A HAE 0010
= I w .
Z { Bl ) it ﬁﬁ CIMR-ADZAO0TS | 458 | 122 | 294 | 280 | 109 | 53.4| 60 | M5
(o [ E 0 | CIMR-ADZAD0S0 | ysg | 122 | 294 | 280 | 112 | 53.4| 60 | w5
[m I :: | IT
- sl s CIMR-AD2A0056 | 198 | 160 | 329 | 315 | 112 | 73.4| 80 | M5
i o CIMR-ADZAO08S | 538 | 192 | 380 | 362 | 119 | T6.4| 85 | M
I | sttt o CIMR-AD4A0002 |
£ ST HRR a: 0004 | 158 | 122 | 294 | 280 | 109 |36.4| 50 | M5
™ E 1l I;I;I 0006
e u | T CIMR-AD4A0007
D | @ aa: 0009 | 158 | 122 | 294 | 280 | 109 | 53.4| 60 | M5
sﬁ{g} ® ‘5J7¥ : % - 0011
. T1 -
-0, o -b; |/ o CIMR-ADAADOTE | 158 | 122 | 294 | 280 | 112 |53.4| 60 | M5
L TN | CIMR-AO4A0031 | 198 | 160 | 329 | 315 | 112 | 53.4] 60 | M5
W\ D1 D2_| - CIMR-AD4A0038 | 198 | 160 | 329 | 315 | 112 [ 73.4] 80 | W5
. | | CIMR-AD4A0044 | 238 | 192 | 380 | 362 | 119 [76.4| 85 | M6
achment 3
Attachment 2 min.D3

Dwg. No. EZ/020800-9/16



These figures apply to the following inyerters, Attachment Mounting Me thod

CIMR-AO2A0004~0056 |M5x10 pan-head screws +S+W(x4) ' (These drawings describe a case where the CIMR-AD2A0012 is used as an IP20)
CIMR-AO4A0002~0038

C
C

Top side
IMR-AO2A0069 M6x14 pan-head screws +S+W(x4)
IMR-AO4A0044

Mount the attachment 3 to the mounting holes

Remoye the top coyer.
(#Customers using the NEMA 1 specification
should not remoye the top coyer.)

of attachment 1 and attachment 2 using the Attachment 1
associated M4x10 pan-head scregs +S+W,

Top coyer

M5 x 10 pan-head screws +S+W (x 2)

(L

oot

LBo++om sidel
Attachment 2

W aad

M5x10 pan-head screws+S+W(x2)

Mount attachment 3 to the mounting holes of attachment 1 and
attachment 2 using the associated M4x10 pan-head screws+S+W.

M4x10 pan-head screws+S+W (2) _,#__,__—————"“’j:”'—_*af

Attachment 3

| A/Poya’r’ren’rion to the direction
when mounting. The wider side
should face upward. (CIMR-A_2A0004
to 0040, CIMR-A_4A002 to 0023 haye
the same width on the top and
ground sides.)




)

P20,

s used as

(These figures describe a case where CIMR-A_2A0081

Attachment Mounting Method

Top coyer

and NEMA 1 coyer.

top coyer,
(#Customers using NEMA 1 should not remoye the top cover.)

M6x14 pan-head screws+S+W(x4)
covyer,

(

CIMR-AO2A0081

These figures apply to the following inyerter.

Mount attachment 1 and attachment 2 to the mounting holes of the

heat sink side using the associated M6x14 pan

head screws+S+W,

O,

Attachment 2

coyer

Terminal

M6x14 pan-head screws +S+W(x2)

M6x14 pan-head

_NEMA 1

screws+2+W(x2)

Attachment 2

<:>Moun+ attachment-3 to the mounting holes of attachment 1 and

<:> Mount the terminal cover, NEMA 1 covyer.

attachment 2 using the associated M4x10 pan-head screws+S+W,

M4x10 pan-head screws+S+W

Completion Diagram

L
e
%)
Qo
(o =
—

|Bottom side

Attachment 3

EZ/020800-11/16

Dwg. No.

Pay attention to the mounting direction.

The wide side faces upward.




Panel Cutting Diagram

*Up to slanted lines (Dimensions include gasket dimensions)

(H3)

Mode L W H W1 | (W2) | (W3) | H1 | (H2) | (H3) | (H4) A | B d
CIMR-AO2A0004
(W3) 0006
= ‘ 0008
= 0010 | |
0012 150 294 122 9 9 280 8.5 8.5 I 140 263 M5
0018 .
1 - 0021
0030
7 | g 0040 | | |
//~ i CIMR-AO2A0056 198 329 160 10 9 315 | 17.5110.5 T | 180 281 M5
q i % CIMR-ADZAD08Y | 238 | 380 | 192 | 14 | o | 362 | 13 | & | 9 | 220 | 341 | ws
; i CTHR-A04A0002
| 000
, | ; 0006 |
! , 0007 '
v ! // 0009 158 294 122 9 9 280 8.5 8.5 1 140 263 M5
/ l 0011 ’
| 0018
| /] 0023
¢ TR ] % o |CIMRAARAAOOST T qeg | 329 | 160 | 10 | o | 315 [17.5]10.5] 7 | 180 | 287 | ws
| — .
¥ | d CIMR-AO4A0044 | 238 | 380 | 192 | 14 9 | 362 | 13 8 9 | 220 | 341 | W6
| ~ '
¢ | V]
# |
! Note 1)
! | f the gap between
4 N attachments 1, 2, 3 and the inyerter
' d unit 1s problematic, attach a gasket
// ! L/ to the panel side, or apply a sealant
4 1 % to the wayy Line in the figure.
, (W2) | (W2) ,
4 | % o
' ote 2)
e ' For the gasket, use CR-type or
/ /
| EPDM-type foam rubber with a
~ ‘ l < thickness of about 2mm.
W1 Z (Gasket: INOAC Corporation C-4205, etc.
| ' Sealant: Shin-Etsu Silicone KE-3494 etc.)
(W) 4-d Ta A

Dwg. No. EZ7020800-12/16



Mounting Leg Replacement Method-1 | |

Mounting Leg Replacement Method- 2

CIMR-AD2A0110,0138 V !
CIMR-AD4A0058~0103

These figures apply fo fthe following inverters.

CIMR-AD2A0169~0415
CIMR-AD4A0139~1200

(These figures describe the CIMR-A_2A011.)

Remove the inyerter unit mounting legs, and switch to the
positions in the figure below after haying remoyed to

associated screws a of the inyerter unit. :

Note) Becuase screws a are used to fix the internal parts of the
inyerter, in cases where the mounting legs are returned to their
original positions and secured with screws b, fix screws a at the
original positions. Screws a and b will be bolts in the CIMR-A_
2A0250 to 0415, CIMR-A _0208 to 1200.)

(These figures describe the CIMR-A_2A011.)

Remoye the mounting legs of the inyerter, and replace at the position
at the positions of the fiqure below.

Standard mounting leg

Screw b

Standard
mounting leg

/
1Y

' Standard
' mounting leg

Standard mounting leg

Dwg. No. EZ7020800-13/16




Fig.1
_ (W3) A (W3) -
2 o -
N
|
| ¥
/] : 1
i I/
/] | a
v | %
% : #
// |
B I dR
d ! /] -
% | g
% |
| |
4 | %
; | g
hj: | %
A ey | (W2) ;f
T
R
3| P D
(W) 4-dTap

Panel Cutting Diagram

*The diagonal Lines and ( ) dimensions show the gasket dimensions.

Mode | w | ow | ow Jo o] wt [y [ i [usr| A | B | 4 | Fig.
CIMR-AD2A0110 | 250 | 400 | 195 [19.5] 8 | 385 | 8 | 7.5 | 8 | 1.5 | 234 | 369 | Ms
CIMR-AD2A0138 | 275 | 450 | 220 |19.5] 8 | 435| & | 7.5| 8 | 1.5 259 | 419 | M6
CIMR-ADZADTEY | 3p5 | 550 | 260 |24.5| & | 535 | & | 7.5| 8 | 7.5 | 309 | 519 | s
CIMR-ADZA0Z30 ) 450 | 705 | 325 |54.5| 8 | 680 |12.5|12.5]12.5|12.5| 434 | 655 | M10
CIMR-AD2A080 | 500 | 800 | 370 | 57 | & | 773 | 16 | 14 | 17 | 13 | 484 | 740 | m12
CIMR-AO4A0058 | 250 | 400 | 195 |19.5] 8 | 385 | & | 1.5| 8 | 7.5 | 234 | 369 | M6
CIMR-AOD4A0072 | 275 | 450 | 220 |19.5| 8 | 435 | 8 | 7.5 | 8 | 1.5 | 259 | 419 | Me [Fig-T|
CIMR-ADAADOBS | 3p5 | 510 | 260 |24.5| & | 495 | 8 | 7.5| 8 | 1.5 | 309 | 479 | s
CIMR-ADAADTSY | 325 | 550 | 260 |24.5| 8 | 635 | 8 |7.5| 8 | 7.5|309| 519 | s
CIMR-AD4A0208 | 450 | 705 | 325 | 54.5 680 |12.5]12.5112.5|12.5] 434 | 655 | M10
CIMR-AO4A0250 | | o

- 0296 | 500 | 800 | 370 | 57 | & | 773 | 6 | 14 | 17 | 13 | 484 | 740 | W12
CIMR-ADAAO414 | 500 | 950 | 370 | 57 | 8 | 923 | 16 | 14 | 17 | 13 | 484 | 890 | W12
C’MR'ADAAgggg 670 [1140| 440 | 107 | & |1110| 19 | 15 | 19 | 15 | 654 |1072| M12 |Fig.2
C'MR'ADAA?QSS 1250|1380 [1100| 67 | 8 [1345| 19 | 20 | 19 | 15 1234|1307 | M12 |Fig.3

Dwg. No. EZ7020800-14/16




o _(W3) A (W3)
- | | =
A S S

N %
// ! //
? | d
| d
// i ;j
/| |
L |
/ i 4
I —
= I 7 I [ e = =
’ 5 /
% | g
% | ¢
4 | /]
? (W2) ; (W2) _ ;
# | /
e IO I %
) N
. | W1 | =
(W) \\VLLMQ

Fi1g.3
g (W)
(W2) W1 (W2)
330 440 330
3 8-d Tap =
‘% = 4 T AT T T T 7T 7T AT 7T T T THA
[am] | ;
W
(W3) A (W3)
352 200 380 200
o Y777 I T T T T T T AT AT T T A
™~ o= 8 8 8 8 2
o o : ' | [ w©| w0 :{:é
¥S) (35) 4 130 {4 (35) (35) )1 130§ (35) |l Z
- o ' i I N A
This is the cutout for 216 - T 216 e
replacement of the under-mounted 8-M4 "ap

air filter., Keep the dimensions
as small as possible.

(for covyer)

Dwg. No. £Z7020800-15/16




Attachment Code Number List

Part Code .
Inyerter Model Order Code Product Code Attachment 1 Atfachment Attachment 3 Mounting Screws
CIMR-AD2A0004 |
0006 A |
; 12606 M4x10 -head +SHW(2)
88?8 100-047-226 £77020800A | SPAT35346-A SPAT35347-A SPAT35348-1 M5110 ban-heod screwstS+W(4)
0012
CIMR-AO2A0018
0020 | 100-047-227 £775508 08 |SPAT35349-A SPAT35350-A SPAT35348-1 ORI M
0040 |
CIMR-ADZA0056 | 100_047-228 ea808 o |SPAT35351-A  |SPAT35352-A | SPAT35353-1 HAx10 pan-head screws Sbiz)
CIMR-AD2A0089 | 100-047-229 E776508 op | SPAT35354-A SPAT35355-A SPAT35356-1  [waris Bonneod screhs e mis)
CIMR-AG4A0002
12606 M4x10 pan-head Ws+S+W(2)
888g 100-047-226 £77020800A | SPAT35346-A SPAT35347-A SPAT35348-1 M5x10 pan-head scroys+SH(4)
CIMR-ADZA000T
0009 M4x10 pan-head S+W(2)
0011 | 100-047-221 £775508 og  |SPAT35349-A  |SPAT35350-A SPAT35348-1 N5410 pan-heod scromssSW(A)
0018
CIMR-AD4ADO3T 1 100-047-228 e77e508 oc | SPAT35351-A SPAT35352-A  |SPAT35353-1 B o e o)
- 4)( - +9+
CIMR-ADAADO44 | 400-047-229 702008 op |SPAT35354-A  |SPAT35355-A | SPAT35356-1 NEx14 ban-head scrensisiW(d)

Dwg. No. £EZ7020800-16/16





